Physics 481                                                                                          Winter 2012
Homework #11
(due Friday, February 10, 2012)

1. Reading assignment: Hecht Chapter 10.3.1-10.3.5. 
2.  (10 pts) Hecht 10.42. 
3. (10 pts) Hecht 10.44.
4. (10 pts) A point source emitting light at the wavelength of 500 nm is placed 1 m from a circular aperture of a 1-mm radius. The observation point P is 1 m from the aperture (see the sketch below). 

(a) Is this Fresnel or Fraunhofer regime? 

(b) Estimate electric field E at the point P.

(c) What happens with the electric field at the point P if we now place an obstacle with a radius of 0.5 mm inside the circular aperture as shown below? Discuss.





Midterm info: closed book/notes/…. However, you may prepare a one-page formula sheet for yourself. In preparation for the midterm, please read all sections in Hecht which were assigned in HW#1-11 and go through all your homework and worksheets.
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Obstacle in part (c)
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